1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

10

[EEY

0.5

7000 GeV pp W+Jet
= L S L L L E A EN N I B S BN B = 7P
— 1 c
- Jet mass (anti-k (0.7), 2300<p, <450, |y|<2.5) 2k
=
= =
= 3N
= Jo
— ——
- i
o3
= 3
— 0.2
- mls
- s
- —Hm
¥,
(40
= = g
~ . m CMS 40
O Pythia 6.428 346 1z
B Pythia 6.428 347 e
= Pythia 6.428 348 e
~ Pythia 6.428 349 T c
— —A— Pythia 6.428 370 18
[%)]
= 30
— -1 &
L 1O
S e =
- =2
1
- —0.5
| [:J 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1\ 1 |
0 50 100 150

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


